MINIMIZE WITHOUT
COMPROMISE

GET UP, GEAR UP & SHOW YOUR STYLE!

Check out our website at www.mgear.io



Features
- Simplistic Money Clip Wallet
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Features
- Minimalist Wallet with . .
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MULTIXL WALLET o
Features

- Minimalist Wallet with Large

2 59 —] Dimensions MultiTool compartment
. ) - Base model hold upto 5 cards
— ™ Width: 262 in - Standard Front Plate with
— Length: 3.42 in Stock Logo
. %gf Thickness*: 0.63in - Available in a wide selection
e e *Estimate based on recommended of Holstex and Kydex sheets
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GADGET WALLET
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Features Dimensions | fim
- MultiTool Wallet with belt clip Width: 263 in | M[:h

- Base model can hold up to 5 cards Length: 3.59 in

- Standard Front Plate with Stock Logo Thickness*: 0.83 in “}"'
- Available in a wide selection of *Estimate based on recommended |i| rd
Holstex and Kydex sheets capacity, actual dimensions may 'F
. . vary depending on the thickness T U
- Available with custom logo and of cards.
personalized engravings T == 3



